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QUESTION 1

For a WebLogic installation, CA Clarity PPM requires that the WebLogic classpath property be modified. Which method
do you use to accomplish this? 

A. Employ load balancing. 

B. Configure the Java virtual machine (JVM) properties. 

C. Configure the Java Database Connectivity (JDBC) connection pool and data source. 

D. Configure the node manager to add the system properties when the server process is launched. 

Correct Answer: D 

 

QUESTION 2

You are configuring the database to connect to CA Clarity PPM in an Apache Tomcat environment. Where do you
configure the database connection? 

A. Open database connectivity (ODBC) configuration 

B. WebSphere Database Configuration Screen 

C. Clarity System Administration (CSA) 

D. CA Clarity PPM Studio 

Correct Answer: C 

 

QUESTION 3

You need the ability to control the results that display in a dynamic NSQL query, based on values entered in a view.
Which type of lookup do you need to create? 

A. Open Schema lookup 

B. Parameterized lookup 

C. Transformation lookup 

D. Static dependent lookup 

Correct Answer: B 

 

QUESTION 4

You are developing an NSQL lookup query definition that can retain inactivated values in the record and enable them to
be viewed in the application. Which specific NSQL construct should you use? 
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A. @ FILTER 

B. @ ALL-VALUES 

C. @ DISPLAY-ONLY 

D. @ BROWSE-ONLY 

Correct Answer: B 

 

QUESTION 5

Which statement about deploying partitions is TRUE? 

A. A resource can only belong to one partition in a model. 

B. Fields available for processes are based on partition access. 

C. If a process uses stock attributes only, it cannot be shared across partitions. 

D. If you create a partition within a partition model, you cannot add or remove partition member Organizational
Breakdown Structure (OBS) units. 

Correct Answer: B 
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